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PART A — (10 % 1 = 10 marks)
Answer ALL questions, i
Choose the correct answoer:
S 1) 8
1 vBNﬂm%~;M;):-___ﬁ~
(1) -30 b  -1b
© 15 ) 30
6.
2. The average of first five multiples of 3 is
@ 3 m 9
© 12 @ 15
3
7. loss%=
Loss x100 Loss -100
n —_— —
R ®) Sp 12
© Loss.xl()O ) Lossx 100
cr sr
8. 1 gain 90 paise on Rs.90, My gnin pereent is
() 01% o) 10% 13,
© 9% @ 1%
9. If a number, when divided by 3, is reduced by 20,
the number is .
(@) 10 (b)) 20
() 30 () 40
10.  The sum of first G natural number is
®) 20 m) 80
) 31 «) 21
14,

PARTB — (5% H=2b marks)
Answer ALL questions, choosing cither (n) or (b).
Each answer should not exceed 250 words.

1. @ If Xtz-y=d  and
y-a+zr=12, then what are the values of
x,y and z?

2x+3dy+2=05,

Or
Page 3 Code No, : 20482 I3

Phe notution of x n divectly proportions) to y is

denotod by

) wmy (h)  ax L
Yy
© xoy ) xmi
y

If (u th) s (n vd) then .
G Bl g.b
) b od ) e d
b .
© 252 Lo
¢ g o @ b

A partner who invests money only is known aa

———t

(n)  Sleeping partner  (b) Working partner

() (n)or(b) . (d) (a) and (b)
The decimal value of 8% is
() 0.8 (b)  0.08
(¢c) 8 (d) 0.008
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(b)  Find the mean of 12, 2, 3% 4

(@ Ifx:y=3:4 find (dx+5y): (5x - 2y).

Or

(b)  The ratio of three numbers is 3:4:7 and
their product is 18144, Find the numbers.

(@)  Three started a  business by
investing  Rs.1,50,000, Rs.1,35,000 and
Rs8.1,20,000 respectively. Find the shave of
each, out of an annual profit of Rs.56,700.

persons

Or

) If A's salavy is 20% less than B's salavy, by
how much percent is B' salary more than
A's?

(a) If the cost price of 12 pencil is equal to the

selling price of 8 pencils, then find gain
percent. '
Or
(b) A book was sold for Rs.27.50 with a profit of
10%. 1f it were sold for Rs.25.75 then what
would havo been the porcentage of profit ov
loss?
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15. (n)

)

ny
T'he sum of two numbers is 15 and the sum
of their squares is 113. I'ind the numbers.

Or
If 50 is divided into two parts such that the
sum of their reciprocals is -]l.’- [‘ind the two

parts.

PART C — (5 x 8 =10 marks)

Answer ALL questions. by choosing either (a) or (b).
Each answer should not exceed 600 words.

1§. @)
(b)
7. (@
(®)

The price of 10 chairs is equal to that of 4
tables. The price of 15 chairs and 2 tables
together is Rs.4,000. Find total price of
12 chairs and 3 tables.
Or

The average age of a class of 39 students is
15 years. If the age of the teacher to be
included, then the average increases by 3
months. Find the age of the teacher.

Two numbers are respectively 20% and 50%
more than a third number. Find the ratio of
two numbers.

Or

A certain amount was divided between

A and B in the ratio 4:3. If B’s share was

Rs.4,800, then find the total amount.
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19.

20.

()

(b)

(a)

(b)

(b)

®)

If 4 (A's Capital) = 6 (IM's Capital) = 10(C’s
Capital), then out of a profit of Rs.4,960),
what is (s share?

Or
In an examination, 80% of the students
passed in English, 85% in Mathematics and
76% in both. If 40 students failed in both the
subjects, find the total number of students.

A daily man pays Rs.6.40 per litre of milk.
He adds water and sells the mixture at Rs.8
per litre, thereby making 37.6% profit. Find
the proportion of water to milk received by
the customer.

Or
Find the single discount equivalent to a
series discount of 20%, 10% and 5%.

The product of two fractions is e and their

-4
quotient is —3—; Then find the greater

4

fraction.
Or

The sum of the squares of three consecutive
odd numbers is 2531. Find the numbers.
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